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22. Which of the following is not an advantage of Multiple Bar Chart: (A) It provides for between categori

comparison of the contributions of the first component (B3) It enjoys all the advantage s of the simpl

chart (C) It has at least two bar charts on the same diagram (D) It provides for within category comparis
CXHIBIT I

The weight (measured in KG) of fifty Paw-Paw heads harvested at FUTO farms L'TD were classified as follows:

Weightinterval | 0.1 -1.49 f 1.50-2.89 | 2.90 -4. 29 ] 4.30-5.69570-7.09]7.10-8.49 | 8.50 - 9.89 | 9.90 -
| 6 8 ' L B ol
1 -

frequency 2 2X,+43 i K X . ‘ X, ‘ |
ey N | e -l 3 . B Jd . : ! TS | | L
Use the information contained in EXHIBIT | to answer questions 23 and 24,
23. Find the frequency of the third class. (A) 21 (B) 10 (C)9 (D)6

24. Calculate the Harmonic mean of the distribution. (A) 2.09  (B) 2.08 Kg  (C)2.08 (D) 2.09 Kg
25. Calculate the Geometric mean of the distribution. (A) 3.09 Kg  (B)3.07 (C) 3.07Kg (D} 3.09
26. The representation of the entire data points on the cartessian plane is called ...

(A) Data plane (B) Scattergram (C) Area plot (D) Histogram
27. The value of the upper and lower class boundaries of a class are (X * +2) and (4 X +1) respectively. |
class mark is 1.5, find the value of the lower class boundary. (A) -15 (B) 4 (C) 2 (D)

28. If A. B, C are any three events, the probability of the union of the three events is:

(A)P(A) + P(B) +P(C)+ P(ANB)+ P(AC)+ P(BC)-P(ANBAC), (B) P(A)+P(B) +P(C)
(C) P(A) + P(B) +P(C) — P(ANB)- P(AC)- PBC)+ P(ApBAC) (-P(A)PB) P(C) - PlA4r 5
29. If A, B, C are mutually exclusive events, the probability of the-union of the three events is:

(A) P(A) + P(B) +P(C) + P(ANB)+ P(ArC)+ P(BC)-PednBnC) (B)P(A)+P(B) + P(C)

(C) P(A) + P(B) +P(C)— P(ANB)- P(AC)- P(BrCY+-B{arBnC)  (D)P(A)P(B)P(C)- P(ArB
§ EXHIBIT 11 '

Given the distribution '

| Values (X) 35745 [55[65]75|85 95|
\ Frequency () 6 [ 20[30]20]10] 8 | 6
Use the information contained in EXHIBIT IT to answer questions 30 and 31.
30. Calculate the mean of the distribution. (A) 32.5  (B) 30.2 (C) 60.6 ()ol4
31. Calculate the standard deviationlof the distribution. (A) 15.51  (B)10.22  (C)14.23 (D) 40.6:
39 The statistic that is not affeéted by extreme values is: (A) median (B) mean (C) mode (D) median
33, The degree of the lincar relationship between two variables at a time is called ...

(A) Product moment (B) Regression (C) Correlation (D) Skewness
34. A dic is tossed once. If the number is odd, what is the probability that it is less than 4.

. (A)1/3 (B) 1/6 (C)1/2 (D) 2/3
35. The well defined rule by which numbers are assigned to cach outcome of an experiment is known.as

(A) Probability distribution (3) Bayes Theorem (C) Independent events (D) Random variable
36. A sample statistic that is used to estimate a population parameter is referref to as ...

(A) Estimating  (B) Estimate (C) Estimation (D) Estimator
37. One of the regimes of kurtorsis is ... (A) Leptokurritic  (B) Mesorkurtic (C) Lepttokurtic (1) Mesok!
38. The seores of ten students in English and Mathematics is shownas;
English(X) __[80]75]75 70 _fss_,‘lﬁﬁj 1 O.q 75801 100]

I

Mathematics (Y) | 50 {f,.‘?ﬁi‘iﬁéﬁg 47165 | 455247 |

Caleulate the col’re]alion'_ﬁctwccn English and Mathematics using the Spearman rank correlation method,
(A) 0.64 B) 073  (€) 074 (D) 0.63
39. The t vavs of calculating probabilities of a random variable are: L _ |
(A }31.3{;:;?1 " aj::d ()[-:scrved (B) Classical and Priori (C) Frequency and Posteriori (D) Classical and Post




EXHIBIT HI
The probability that a man watches Johntee 1V show given that his wife does is 3(1-x ") while the

probability that his wife watches Johntee IV is 3 [he probability that the couple watches the TV show is

o
4 .
Use the information that is contained in Exhibit HI, to answer questions 40 and 41.

40. Obtain the value of X. (A) 3/4 (B) 1/4 (C) 2/3 () 172
41. Obtain the probability that a man watches Johntee TV show given that his wife does.
(A) 34 (B) 1/4 (C)2/3 (D) 1/2
42. The first and last observation of a distribution is 10 km and 145 km respectively. The class interval of the
third class, given that the distribution is grouped into ten distinct classes, is..:
(A) 37.00 —50.50 (B)23.50 -36.99 (C)23.50-37.00  (I3)37.00 50.49
43. Which of these mathematical statements is true, given that X and X are the ith valuc and mcan

respectively of a distribution. (A) D" (X, - X)<0 (B) (X, -X)#0 (C) D (X, -X)=0 (D) D (X, ~X)>0
44. Obtain the probability of obtaining at least four girls in a{I family of five Children.
(A)0.15 (B)0.18 (©)0.19 (D) 0.17
45. Find the probability of obtaining a sum of 6 in a toss of two fair dice.
(A) 0.13 (B)0.14 (C)0.83 (D) 0.17
46. A Typist makes an average of four errors per page. What is the probability that she makes at least two
errors on the next page: (A) 091 (B) 0.80 (C) 0.8L. D) 0.90

EXHIBIT IV
A random variable X follows the binomial distribution with parameters S and 0.4.

Use the information contained in EXHIBIT IV to answer questions 47, 48 and 49.
47. Find the probability that X =2 is (A) 0.44 (B)035/ ¥ (C)0.34 (D) 0.45
48. Find the probability that ¥ <2 is (A) 0.26 (B) 0.68 (C)0.91 (D) 0.34
49. Find the probability that X >2 is (A) 0.67 .(B).034 (C) 0.66 (D) 0.32
EXHIBIT V
A-fair coin is tossed three times
Use the information contained in EXHIBIT V to answer questions 50, 51 and 52.
50. Find the probability of obtaining exactly threc heads (A) 5/8  (B) 1/8 (C)2/8 (D) 3/8
51. Find the probability of obtaining at least three heads (A) 1 B) 14 (C) 1/8 (D) 378
52. Find the probability of obtaining at most three heads is (A) 1/2 (B) /16  (C) 1/&8 (D) 1/4
EXHIBIT VI
The class marks of a frequency distribution are 128, 137, 146, 155, 164, 173 and 182
Use the information contained in EXHIBIT VI to answer questions 53, 54 and 55.
53. The class size is (A) 11 (B) 8 (€)% (D) 10
54. The class boundaries of the second class 1s
(A) (137,146) (A) (133,141) (B) (134.5,141.5) (C) (132.5, 141.5)
55. The class limits of the last class are (A) (178, 186)  (B) (173, 183) (C) (169,177) (D) (178, 182y
EXHIBIT VII
I'he following computations were obtained from the number of plants (X) in a Farm and it’s yield (Y).

X =12.88,var(X) =47.36,)_ X," =1705,% ¥, =1992, > ¥," = 585808 and " X, ¥, =31330.
=l i=1 i=| sl

Use this Information contained in Exhibit V11 to answer Questions 56, 57, 58 and 59,




E?W‘OJ’W | \ ‘

56. Obtain the value of n. (A) 10 (B)7 (€8 (D)9

57. The gradient of the line of best fit for the data is ... (A)15.02 (B)14.01 (C)15.01  (D)-14.01
58 The intercept of the line of best fit for the data is ... (A) 55.67  (B) 45.67 (C)45.57 (D) -45.57
59 The cocfficient of correlation, Using the product moment correlation method, between X and Y is ...

(A) 097 (B) 094 (C) 095 (D) 096

60. The Methods of Point Estimation are ..... and .....-. Lstimation.
(A) Point and Confidence (B) Point and Internal  (C) Point and Interval " (D) Point and Intennal
EXHIBIT VIII

rtile range of a distribution, whose upper and lower quartiles are 2.X * +1 and 8 X -9 respectively,
VIII to answer Questions 61, 62 and 63.
(C) 14 (D) 19

The inter qua
is 12.  Use this Information contained in Exhibit
61. Determine the upper quartile of the distribution. (A)20 (B)18

62. Determine the lower quartile of the distribution. A8 (B)2 ©) 7 (D) 6
63. Determine the 75" Percentile of the distribution. (A) 20 (B) 18 (€) 14 (D) 19
64. The errors that occur in any hypothesis test about a parameter are ... CITors:
(A) Types C and D (B) Types A and B (C) Types L and 1l (D) Types 1A and TIB

65. The probability of rejecting a false hypothesis is:
(A) Power of testability performance (B) Power of test (C) Power of hypothesis (D) P
66. The test in which the alternative hypothesis is non-directional is ... test:
(A) Typel (B) Right tailed (C)  left tailed (D) * two tailed
EXHIBIT IX
3% with a variafce 0f6.25. The grades arc approximately
d 20 students received grade D.

ower of performance

In a Statistics Examination, the mean grade is 4
normally distributed. all students with grades 40 to 47 received grade D an
Given that ¢$(1.6)=0.9452 and ¢(-1.20)=0.1151,

Use this Information contained inExhibit-I1X to answer Questions 67 and 68.
67. Obtain the probability of students with grades 4010 47. (A) 1.0 (B)0.95 (C)0.83 (D) 0.12
68. Determine the number of students that took the lixamination. (A)20 (B)24 (C)21 (D)167 '

69. The act of taking data measurement on a'Variable of intcrest using measurement tool is? |
(A) Scaling (B) Data Measurcment (C)Scale (D) Scale Measure |
70. If the moment coefficient of kurtosis'is > 0, it means the distribution is —-—--
(A) flatkurtic (B) platykurtic (C) leptokurtic (D) mesokurtic




